R&mH FR25FE3ADEFEAN

A0 110,684 (-14)

5 53,763 (£0)

T 56,921 (-14)
2 43,8265 (+11)
x () AFRETAL

X253 18HE

Rl AOZX Frk25F3H18
BEAOGR FEERSRALD (EEREAGIRCEFRSNIZALD) &E@E —BHUEIEA.

g AR 18R Si% 18R ik 1R | MR | IR
JE\ERH] 420 2 185 1 235 1 178 1
ELH] 215 0 100 0 115 0 77 0
E=H] 132 0 60 0 72 0 58 0
KEH] 37 0 15 0 22 0 18 0
WNEL] 13 0 4 0 9 0 6 0
] 88 0 38 0 50 0 27 0
Eayestil] 50 0 7 0 43 0 7 0
P L ] 509 -1 273 -1 236 0 293 0
FEH] 25 0 14 0 11 0 16 0
1 H] 198 2 85 1 113 1 93 2
= =[] 183 -1 99 0 84 -1 100 0
] 227 -2 115 -3 112 1 120 0
ZH] 158 2 71 0 87 2 68 1
& SHT 482 2 245 -1 237 3 234 -1
FFrH] 80 0 37 0 43 0 45 0
1GRaH] 109 0 51 0 58 0 41 0
FASEH] 160 0 77 1 83 -1 89 0
—&T 0 0 0 0 0 0 0 0
NET 109 0 52 0 57 0 53 0
T&ET 140 0 66 0 74 0 56 0
N&ET 86 0 39 0 47 0 37 0
NET 165 0 67 0 98 0 32 0
T&ET 258 0 98 0 160 0 123 -1
1ok ] 355 -1 153 0 202 -1 186 0
SiEH] 2,604 -1 1,278 0| 1,326 -1 1,079 -4
RFRE] 3,463 -6 1,665 -7 1,798 1 1,356 1
] 1,592 1 779 0 813 1 577 -2
B a)=<tiil) 1,823 -5 940 -4 883 -1 795 0
FrERHE] 424 -5 196 -3 228 -2 183 0
FHATHT 3,608 -4 1,812 4 1,796 -8 1,589 3
LLAEHT 2,391 11 1,136 3] 1,255 8 971 10




VEIRH] 2,010 14 970 10 1,040 4 638 9
Ll e 4,871 5 2,397 -4 2,474 9 1,897 6
MEigEs] 2,163 -11] 1,053 of 1,110 -11 860 -6
EBZRHE] 9,518 -6| 4,652 -5| 4,866 -1 3,618 -5
=2kH] 3,964 11 1,933 5( 2,031 6| 1,507 6
[ EHET 1,132 1 588 2 544 -1 465 -2
EREFHIER — 2,626 9] 1,246 6| 1,380 3 896 4
EREFHTERS) 1,833 -4 881 0 952 -4 653 1
EREFHT PG 7> 594 1 291 0 303 1 208 1
Er7KH] 5,667 1 2,681 0| 2,986 1] 1,949 2
g lii) 165 -1 160 -1 5 0 157 -1
ERH] 26 0 14 0 12 0 14 0
ETRE—TH 403 -7 213 0 190 -7 179 -3
ETREIZTH 298 -2 127 -2 171 0 139 0
ETREI=TH -1 0 -1 0 0 0 -1 0
ETREMTH 0 0 0 0 0 0 0 0
ETREATH 239 -5 113 -3 126 -2 77 -2
rES 0 0 0 0 0 0 0 0
TEE—TH 414 3 195 2 219 1 185 2
TEEZTH 737 0 355 0 382 0 341 0
TEE=TH 308 0 151 1 157 -1 141 1
WERAT—TH 496 -1 229 -3 267 2 235 -1
RERE—TH 693 -6 320 -4 373 -2 331 -3
EE=TH 427 1 216 1 211 0 219 1
EMPRET—T B 326 1 138 0 188 1 146 0
Gl = 514 -2 244 -2 270 0 248 -2
JtFEILE—TH 182 -1 83 0 99 -1 89 0
JtFEILETZTH 406 -2 184 0 222 -2 179 -3
AR —TH 287 2 152 1 135 1 151 2
AR —TH 462 -1 240 2 222 -3 248 1
FEH—TH 130 -2 61 0 69 -2 57 -1
FZHZTH 333 -4 154 -3 179 -1 158 -1
[REEIH 310 0 144 0 166 0 216 0
wFEE—TH 119 -7 61 -2 58 -5 62 -3
RFEE =T H 269 -2 114 0 155 -2 99 -1
RAEI—TH 460 -2 213 -2 247 0 175 0
FREIZTH 383 0 177 0 206 0 160 0
RREI=TH 517 -1 245 0 272 -1 227 -1
FRAFETI T H 406 -1 180 0 226 -1 164 1
FRETRTH 601 -3 261 0 340 -3 223 1
FuRE—TH 219 2 123 1 96 1 107 1
FUEEI”TH 368 -7 211 -5 157 -2 208 -3
HIIEEE—TH 458 -3 219 -2 239 -1 210 -3




HIGEAI”TH 331 -2 155 -1 176 -1 130 -2
BRE—TH 152 0 76 1 76 -1 78 0
BRI "TH 633 13 299 7 334 6 286 3
BRE=TH 534 -4 274 -3 260 -1 229 -2
BEEMTH 248 3 111 2 137 1 104 2
EEEATH 702 3 330 0 372 3 347 1
Kt —TH 296 -3 146 -2 150 -1 130 2
XK —TH 230 -1 115 0 115 -1 92 0
AFH—TH 139 1 67 1 72 0 69 1
AFHZTH 8 0 4 0 4 0 4 0
AFH=TH 182 0 90 0 92 0 85 0
TEEIA—TH 671 -2 320 1 351 -3 243 2
TEsETFE T H 330 0 150 0 180 0 130 0
TEEAR=TH 403 3 214 3 189 0 151 1
TEEIFEM T B 507 6 234 0 273 6 205 2
TEEAATH 638 -4 311 0 327 -4 260 0
TEEIPRNT B 363 1 188 1 175 0 168 0
TEsETFEE T H 661 4 321 2 340 2 305 1
TEEIFEA\TH 691 5 331 1 360 4 291 0
TERER—TH 1,485 5 708 3 777 2 617 3
THREERTTH 410 0 211 0 199 0 168 1
TEREIR=TH 673 12 320 6 353 6 276 4
TEREIERIUT B 1,154 4 561 7 593 -3 465 1
TEHREERATH 1,004 -17 528 -16 476 -1 517 -17
T2REERANT B 566 -5 286 -1 280 -4 313 1
TEZRERETH 1,490 2 759 -3 731 5 631 -2
TARETERNTH 1,248 -10 569 -5 679 -5 578 -3
TEREIRAT B 426 -1 209 1 217 -2 143 -1
TEEIE—TH 91 2 48 1 43 1 74 1
TEEIEZTH 92 -3 62 -1 30 -2 70 -2
4N st 81,795 -24| 39,742 -11{ 42,053 -13| 33,501 5
AEH]E 112 -1 48 0 64 -1 70 -1
AEHTA 108 0 53 0 55 0 60 0
AEHERE 12 0 4 0 8 0 9 0
AREHT/NBR 112 -1 51 -1 61 0 51 -1
AEHKH 11 1 6 0 5 1 7 1
AEHTEH 64 0 26 0 38 0 26 0
AEH R 10 0 5 0 5 0 7 0
AEHE /R 8 0 2 0 6 0 4 0
45 12 0 4 0 8 0 9 0
AEMIXEEST 449 -1 IR =1l 250 0 243 il
IN= 1 AVES] 35 0 18 0 17 0 22 0
IN= 1RO 38 0 17 0 21 0 27 0




IN= I E0) 40 0 18 0 22 0 22 0
[1: SHTER S 33 0 14 0 19 0 20 0
[LERTEAR 62 0 31 0 31 0 33 0
[LSHETHH 25 0 14 0 11 0 16 0
NG9 28 0 18 0 10 0 18 0
[LEE/NFS 44 0 20 0 24 0 21 0
FEH] 37 0 22 0 15 0 24 0
[ S EEET 342 0 172 0 170 0 203 0
SUEERSET 791 -1 371 -1 420 0 446 -1
e X T ] 1,381 5 668 3 713 2 487 1
T2 X T ] EH 720 -4 313 -2 407 -2 223 -3
&R R 1,254 1 605 0 649 1 415 0
e 2K T iz E P 1,046 0 517 0 529 0 367 0
e 1,371 -4 670 0 701 -4 454 0
e 1,161 2 548 -2 613 4 420 1
TN ] = AR 3,941 Of 1,918 2| 2,023 -2 1,414 0
TR X ERET 10,874 0| 5,239 1] 5,635 -1 3,780 -1
ERILIET_ESREESF 2,115 6 1,000 3 1,115 3 694 2
ERILIE] RSB 2,647 18| 1,321 8 1,326 10 917 6
ERILIETER/)N I 2,047 -5 1,020 -3 1,027 -2 780 -3
BRI BT PaR T 1,529 0 758 4 771 -4 516 -1
BRI LI BT iF 1,140 1 563 0 577 1 404 2
ERLLIET) 1R 2,308 of 1,139 4 1,169 -4 819 2
ERILETER YR T 5,438 -91 2,610 -5| 2,828 -4 1,969 0
BRI [X &R 5T 17,224 11 8,411 11| 8,813 0 6,099 8
=) 5t 110,684 -14| 53,763 0| 56,921 -14| 43,826 11




